HAgoz Aod ¥4
1. 708 g

HERZHOIE, OFR) B2 LEPaa0) HEea 0] 0IX47t Eat — HE2OR Ho/d

R A B O e L

f(x*t)f t*xff jie— [of (e~ WA Oixi

a

f “a—t)f()dt = a f " F@)de— f tF()dt — MET MEEsA DR 0jX4

a

2. SHEL=E FoE &9l Ol

%/If(t)dtz
L war =t a)- 1@)
% “a—t)f@dt= [ F)dr

o1 : flz)=2"+32"—z+ /Qf(t)dt U o, £(1)S FBIAL.
0

1

2 2 2
/f(t)dtzkam M f(x)=a*+32" —z+Ek, ff(t)dt:[lt4+t3——t2+kt =10+ 2k
0 0

4 2 0
0| 0] k2t o822 10+2k=k .. k=—10
f(x)=x3+3x2—x—10 .‘.f(1)=—7

o2 f@)=o+ [ @onfOa 2 0, 1) TR,
0

f(:c):x2+/2(acft)f(t)dt:a:2+x/2f(t)dtff2tf(t)dt

0

2 2
/f(t)dtza, /tf(t)dtzbam 1 flz)=a*+az—0b
0 0

2
/ f)dt = [—t + —at —bt} =8 =4
0 3 0 3

2 2
S I SRS S S 2} 48 o= - _4
fotf(t)dt [415 +ogat’ = bt ) dtga=20=b  a=0,0b 3

o

4



2) HRRZI0| H47t BHE 4
~ @ ghE=oRfZ0| HEE tY @ Y

=]
HL

o1 - f‘”f( Vit =20 — 2 far—5 (a= A4) U T, f(a)S TS,
1

r=12 HYSHH flf(t>dt =a—4
1

o2 : fm(x—t)f(t):—:sxf‘+4x2+x—202' M, £(1)2 FBHAI2.
1

ored

mjo
mjo

0|26t f F)dt=—92"+8x+1, YHS 5t ¥ [ 0|25HH
1

UHS 0|251H f(z)=8z"—22+4

4. YHgoz Holgl F4ol I3
/wf(t)dt Haf(t)dt

HEU:ET:J"(G) , £i§(}%:f(a)

- If(t)dt=F(:c) (a)OM DA Moz MIeh: £1, ZIEe H2|E HEg: £

Kzo2 Hold 3 o JJ5 ojnj2 w2, |
—~ FHEOZ FOF F40| 0|2 A3 o MpHo2 ofshg

[t

e >
x7b AzBE AXH Hol= W2 f(2)AzBF S0LUEE, HOIE Hate
zZt a0 70710] C7PHE S0l= CHE (a: a)f(@)0|B2, r—a2 UHEUS

—

2 fl(x)
0 257

sHt2 fl(a)



